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1

𝑓
=  

1

𝑠
+

1

𝑠′

1

𝑓
=  

1

12
+

1

24

1

𝑓
=  

3

24

𝑓 = 8 𝑐𝑚



 

 

 

 

 

 

 



 

 

𝐹2

𝐹1
=  

𝑘 
𝑞′1 𝑞′2

𝑟2
2

𝑘 
𝑞1𝑞2

𝑟1
2

𝐹2

𝐹1
=  

𝑘 
2𝑄 .  𝑄
(2𝑑)2

𝑘 
𝑄. 𝑄
𝑑2

𝐹2

𝐹
=  

2𝑄2

4𝑑2
 𝑥 

𝑑2

𝑄2

𝐹2

𝐹
=

1

2

𝐹2 =
1

2
 𝐹

 

 

 

 

 



 

 

 

 

 

 

 



 

 

 

 

 

 

 



 

 

 



 

 

 

 

 

 

 

 

 

 

 



 

 

 3−3 + 9−2

 −
5

27

 
2

81

 
4

81

 
4

9

3−3 + 9−2 =
1

33
+

1

92

=
1

27
+

1

81

=
3

81
+

1

81

=
4

81

 
2√54+4√6

4√8−3√2

 2√12

 5√4

 6√10

 2√3

2√54+4√6

4√8−3√2
=

2√9×6+4√6

4√4×2−3√2

=
2×3√6+4√6

4×2√2−3√2

=
6√6+4√6

8√2−3√2

=
(6+4)√6

(8−3)√2

=
10√6

5√2

= 2√
6

2

= 2√3 

 

 

 



 

 

 

 

𝐻𝐵 =
𝐻𝐽

1 + 𝑏

20

100
= 0,2 

𝐻𝐵 =
𝑅𝑝600.000

1 + 20%

=
𝑅𝑝600.000

1 + 0,2

=
𝑅𝑝600.000

1,2

= 𝑅𝑝500.000

 

 

 

 

 

𝑇𝑎𝑘 = 𝑀𝑜 + 𝑀𝑜 × 𝑏 ×
𝑛

12



 

 

8.800.000 = 8.000.000 + 8.000.000 × 𝑏 ×
82

123

8.800.000 − 8.000.000 = 8.000.000 × 𝑏 ×
2

3

800.000 = 8.000.000 ×
2

3
𝑏

8

8010
×

3

2
= 𝑏

3

20
= 𝑏 

𝑏 =
3

20
×

5

5

𝑏 =
15

100
𝑏 = 15% 

 

 

 

 

 

𝑆𝑛 =
𝑛

2
(2𝑎 + (𝑛 − 1)𝑏)

𝑆10 =
10

2
(2(3.000.0000) + (10 − 1)500.000)

𝑆10 =
10

2
(2(3.000.000) + (9)500.000)

= 5(6.000.000 + 4.500.000)

= 5(10.500.000)

= 52.500.000



 

 

 

 

 

 

 

𝐾 =  94 

𝑝 =  5𝑥 +  2 

𝑙 =  2𝑥 +  3 

𝐾 =  2(𝑝 +  𝑙)

94 = 2(5𝑥 + 2 + 2𝑥 + 3)
94

2
= 5𝑥 + 2𝑥 + 2 + 3

47 = 7𝑥 + 5

47 − 5 = 7𝑥

42 = 7𝑥
42

7
= 𝑥

𝑥 = 6

𝑝 = 5(6) + 2 = 30 + 2 = 32

𝑙 = 2(6) + 3 = 12 + 3 = 15

 

 𝑝 > 50

 𝑝 ≥ 50

 𝑝 > 90

 𝑝 ≥ 90



 

 

𝐾 ≥ 140

2(𝑝 + 𝑙) ≥ 140

2(8𝑥 + 2 + 6𝑥 − 16) ≥ 14070

14𝑥 − 14 ≥ 70

14𝑥 ≥ 70 + 14

14𝑥 ≥ 84

𝑥 ≥
84

14
𝑥 ≥ 6

𝑥 = 6

8𝑥 + 2 = 8(6) + 2 = 48 + 2 = 50

𝑝 ≥ 50

𝑝 ≥ 50

 

 

 



 

 

 

 

 ↔

 ↔

 ↔

 ↔

 

 

 

 

 

𝑦 − 𝑦1

𝑦2 − 𝑦1
=

𝑥 − 𝑥1

𝑥2 − 𝑥1



 

 

𝑦 − 𝑦𝑞

𝑦𝑝 − 𝑦𝑞
=

𝑥 − 𝑥𝑞

𝑥𝑝 − 𝑥𝑞

𝑦 − 10

1 − 10
=

𝑥 − (−2)

1 − (−2)
𝑦 − 10

−9
=

𝑥 + 2

3
3(𝑦 − 10) = −9(𝑥 + 2)

3(𝑑 − 10) = −9(3 + 2)

3𝑑 − 30 = −9(5)

3𝑑 = 30 − 45

3𝑑 = −15

𝑑 = −
15

3
𝑑 = −5

𝑑 = −5.

 

 

 

 

 

D 

B A 

C 

4 



 

 

 

 

 

 

 

𝑑1 = 10

Kbelah ketupat = 4𝑠

52 = 4𝑠

𝑠 =
52

4
= 13

𝐿𝑏𝑒𝑙𝑎ℎ 𝑘𝑒𝑡𝑢𝑝𝑎𝑡 =
1

2
× 𝑑1 × 𝑑2

1

2
 d1 = 5

𝑡2 = 132 − 52 

𝑡 = √196 − 25

𝑡 = √144

𝑡 = 12

𝑑2 = 2 × 𝑡 = 2 × 12 = 24 𝑐𝑚



 

 

𝐿𝑏𝑒𝑙𝑎ℎ 𝑘𝑒𝑡𝑢𝑝𝑎𝑡 =
1

2
× 10 × 24

= 120 cm2

 

 

 

 

 

𝐴𝐶

𝐸𝐷
=

𝐴𝐵

𝐸𝐵
𝐴𝐶

4
=

12

8

𝐴𝐶 =
12 × 4

8



 

 

𝐴𝐶 =
48

8
𝐴𝐶 = 6

 

 

 

 

 

𝐹𝐶 =
(𝐷𝐶 × 𝐴𝐵) + (𝐶𝐵 × 𝐸𝐷)

𝐷𝐶 + 𝐶𝐵

=
(3 × 20) + (6 × 5)

3 + 6

=
60 + 30

9

=
90

9
= 10

B A 

F 

E D 

C 

3 cm 

5 cm 

6 cm 

20 cm 

B A 

F 

E D 

C 

3 cm 

5 cm 

6 cm 

20 cm 



 

 

 

 

 

 

 

D ke Pohon

A ke Pohon
=

DC

AB

𝑥

4 + 𝑥
=

6

8
8𝑥 = 6(4 + 𝑥)

8𝑥 = 24 + 6𝑥

8𝑥 − 6𝑥 = 24

2𝑥 = 24

𝑥 =
24

2
𝑥 = 12

𝑥 = 12



 

 

 ∠𝐴 ∠𝐵 ∠𝐴 ∠𝐵

∠𝐵

 

 

 

 

∠𝐴 + ∠𝐵 = 180𝑜

2𝑥 + 30𝑜 + 5𝑥 + 10𝑜 = 180𝑜

2𝑥 + 5𝑥 + 30𝑜 + 10𝑜 = 180𝑜

7𝑥 + 40𝑜 = 180𝑜

7𝑥 =  180𝑜 − 40𝑜

𝑥 =
140𝑜

7
𝑥 = 20𝑜

∠𝐵 = 5(20𝑜) + 10𝑜 = 100𝑜 + 10𝑜 = 110𝑜

 

 

 

 

 

Ljuring 1

Ljuring 2
=

sudut pusat juring 1

sudut pusat juring 2
 

80o 

60o 

O 

M L 

K 



 

 

Ljuring OKL

Ljuring OKM
=

sudut pusat KOL

sudut pusat LOM

Ljuring OKL

12
=

80o

60o

Ljuring OKL =
8 × 122

6
= 8 × 2

= 16

 

 

 

 

 

𝑙 = √𝑝2 − (𝑟1 − 𝑟2)2

𝑙

16 = √𝑝2 − (17 − 5)2

(16 = √𝑝2 − (17 − 5)2)
2

256 = 𝑝2 − (122)

256 + 144 = 𝑝2

𝑝2 = 400

𝑝 = √400

𝑝 = 20



 

 

 

 

 

 

 

Vbola =
4

3
𝜋𝑟3



Vbola =
4

3
𝜋 × 93 × 9 × 9

= 4𝜋 × 3 × 9 × 9

= 972𝜋

 

 

 

 

 

=
1

2
× Alas × tinggi



 

 

𝑥 = √122 + 52

= √144 + 25

= √169

= 13

LΔ =
1

2
× 𝑎 × 𝑡

=
1

2
× 10 × 13

= 65

4 × LΔ = 4 × 65 = 260 cm2

 

 

 

 

 

𝑉 =
1

3
𝜋𝑟2𝑡

 

12 

5 

x 

T 

A B 

C D 

P 

10 



 

 

27 =
1

3
𝜋𝑟2𝑡

27 =
1

3
𝜋 (

𝑑

2
)

2

𝑡

27 =
1

3
𝜋

𝑑

2

2

𝑡

𝑟 =
3𝑑

2

𝑉𝐵 =
1

3
× 𝜋 × (

3𝑑

2
)

2

× 2𝑡

𝑉𝐵 =
1

3
× 𝜋 ×

9𝑑2

4
× 2𝑡

𝑉𝐵 =
1

3
× 𝜋 ×

9𝑑2

2
× 𝑡

𝑉𝐵 = 9 (
1

3
𝜋

𝑑

2

2

𝑡)

𝑉𝐵 = 9(27)

𝑉𝐵 = 243

 

 

 

 

 



 

 

PP = √1002 + 752

PP = √(25 × 4)2 + (25 × 3)2

PP = √252(42 + 32)

PP = 25√16 + 9

PP = 25√25

PP = 25(5)

PP = 125

 

 

 

 

 

𝑋𝑔𝑎𝑏 =
𝑛𝑎. 𝑋𝑎 + 𝑛𝑏 . 𝑋𝑏

𝑛𝑎 + 𝑛𝑏

𝑛𝑎 = 6

𝑋𝑎 = 68

𝑛𝑏 = 14

𝑋𝑏 = 78



 

 

𝑋𝑔𝑎𝑏 =
6(68) + 14(78)

6 + 14
 

=
408 + 1092

20

=
1500

20
= 75

 
3

4
𝑥 −

1

3
𝑦 = 5

1

2
𝑥 +

2

3
𝑦 = −2 𝑥 = 𝑎 𝑦 = 𝑏 𝑎 −

3𝑏

 

 

 

 

3

4
𝑥 −

1

3
𝑦 = 5

(123)
3

4
𝑥 − (124)

1

3
𝑦 = 5(12)

9𝑥 − 4𝑦 = 60

1

2
𝑥 +

2

3
𝑦 = −2

(63)
1

2
𝑥 + (62)

2

3
𝑦 = −2(6)

3𝑥 + 4𝑦 = −12

9𝑥 − 4𝑦 = 60       
3𝑥 + 4𝑦 = −12 +

12𝑥 = 48

𝑥 =
48

12
= 4 ↔ 𝑥 = 𝑎 = 4

𝑥 = 4

3𝑥 + 4𝑦 = −12

3(4) + 4𝑦 = −12

4𝑦 = −12 − 12

𝑦 = −
24

4
= −6 ↔ 𝑦 = 𝑏 = −6 

𝑎 − 3𝑏 = 4 − 3(−6) = 4 + 18 = 22



 

 

 

 

 

 

 

1

𝐵
+

1

𝐾
=

1

4
+

1

12

=
3

12
+

1

12

=
4

12

=
12

4
= 3

 

 

 

 

 

7𝑥 = 𝑅𝑝42.000



 

 

𝑥 =
𝑅𝑝42.000

7
= 𝑅𝑝6.000




